Geometry Honors Name ,/ W/é /M

Chap 2 and 3 Applications Date
Section I

he definition of congruence to decide whether the two figures are congruent. -
 your answer. Give coordinate notation for the transformations you use.
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Determine which of the angles are congruent. Which transformations can be used to verify the

congruence?
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Determine which of the segments are congruent. Which transformations can be used to verify
the congruence?
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Use the definition of congruence to decide whether the two figures are congruent. Explain your answer.
Give the coordinate notation for the transformation you use.
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The figures shown are congruent. Find a sequence of transformations for the indicated mapping. Give

coordinate notation for the transformations you use.

ap DEFGH to PQRST. 19, Map JKLM to WXYZ,
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Section Il: Complete the following on graph paper. fﬁm/’l}{/ﬁ’“ (}() /}"? ( Ko~ Ll‘ \/>
the preimage and i image of each triangle under the given translation,

*mgie A{-3, =1} 6. Triangle: P(1, —3); 7.
—2 2 C{ﬁ ~1k Q(3, _1) R{4, —3);
sctor: {3, 2) Vector: {—1, 3}

. Triangle: X{(0, 3}
Y1, 1) 23, 4);
Vector: (4, -2}
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Section i
Draw the image of AABC after a reflection across line £
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() Section IV : Draw the image of the triangle after the given rotation,

L
2. Counterclockwise rotation of 30° around 3. Clockwise rotation of 55° around point J

point P
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ind the coordinates of the image under
e transformation {6, —11).
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Specify the component form of the vector that maps each figure to its image,
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17. Algebra A cartographer is making a city map. Line m
represents Murphy Street. The cartographer translates
. points on line m along the vector {2, —2) to draw
(_ ) Nolan Street. Copy the graph. Draw the line for Nolan BV
Street on the coordinate plane and write its equation. ot /.
‘What is the image of the point {0, 3) in this situation? e
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Section V

Complete on separate graph paper.
Reflect the figure with the given vertices across the given line.

“ 9, P{=2, 3}, Q4 3), R(~1, 0), 5(--4, 1} x-axis 16, A3, w?z}, B{l, 3}3 C(3, —1}; y-uxis

AA’B’C’ is the image of AABC under a reflection. Draw the line of reflection.
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23. Communicate Mathematical Ideag
The figure shows rectangle PORS and its uﬁﬁg& !
after & reflection across the yaxis. A student siid (ﬂ J CZ/J, AGle f’
that PORS could also be mapped to its image

using the transhation {x, y) — (xfiffw& ¥h .i)a you W %ﬂ&/ﬁj/m WW J e
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24,
Which of the following transformations map AABC to a triangle

that intersects the x-axis? Write all that apply. 5 ty
A 3) = (=) D. (%5) = (5 —x) T
(53) = (5 ) (o) = (sr+1) bt L
R n SRS NS
" N Ll
e 3) b (»«2, ) (z// ~/) oo
B [hieseds X-Aakx:s. ;

@ A0 3) g'(2-1) ¢'(41)
T8 Inteds x-axls.
/ﬁ'jﬁ 5;&, (:;\a’l Q'_e;}uf é‘f’g\f&' E A i AR

D po 5de " :
@ /é\}f(/) -2) 8'(2,2) C’(ﬁfﬂ/} A Il s Ay x0-axis .

Page 7



Section Vi

the angle of rotation and direction of rotation in the given figure, Point P is the
r of rotation,
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14,

Critical Thinking The figure shows the image of AMNP after & counterdlocksvise rotation of 270% On a
coordinate grid, draw and label AMNE.
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) The origin is a fixed point is mapped fo another
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; (%Q}"?(ﬁ)’g)
Rotate 25ABC 90 degrees clockwise about the

origin and thereﬁeez’t over the x-axis.
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16. Draw and label the final image of A ABC after the given sequence of transformations. Show all work
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Determine whether each statement is always, sometimes, or never true.

17. A double rotation can WﬂU/IS be written as a single rotation.

18. A sequence of a reflection across the x-axis and then a reflection across the y-axis results in a 180°

rotation of the preimage. A/ ’
a/ %VS Somie s S

sequence of rigid trmsformm@ns will Awégszﬁt in an image that is the same size and oramtatmr
¢ preimage. : - : : :

9.

20. sequence of a rotation and a dilation will | f . result in an image that is the ﬁa;ne size and orientat
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QRS is the image of ALMN under a sequence of transformations,
hether each of the following sequences can be used to create the

21,

‘AQRS from the 9mmag&. LLMN,

thé vector {G wﬁ

Translate along the vector {0, —4) an
across the y-axls.

_Rotate 90° clockwise about the origifi, reflect across

‘the x-axis, and then rotate 90° counterclackwise

“about the origin. N 0

Rotate 180° about the origin, refled aeﬁmsé th@: x-axis,

-and then translate ak;arzé, s the vector {{3 sy

22, An andmator is drawing o sceme in which 4 Indybug moves atound three s '

“mushrooms, The figure shows the starting position of the ladybug, The
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 the final coordinates of the ladybug? ( 9 ~ 6‘) )
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73, present Real-World Problems A builder is trying to level out some ground with &
ont-end loader. He picks up some excess dirt at (9, 16) and then maneuvers through the
job site along the vectors (-6, 0}, (2, 53, {8, 10) to get to the spot to unload the dirt. Find

¢ coordinates of the unloading point. Find a single vector from the loading point to the
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,a.  Communicate Mathematical deas Suppose you are given a figare and a center
of rotation P, Describe two different ways you can use a yuler ang protractor to deaw
the iznage of the figure after a 210° counterclpckwise rotation arcund P.
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5. LookforaPattern Isaiah uses software to draw HDEF as shown. ST

Each time he presses the left arrow key, the software rotates the figure A

an the screen 90° counterclockwise, Bxplain how Isaiah can determine g

which quadrant the triangle will lie In if he presses the left arvow key # 1

T A L e , :
WA 3

_,,_,;-V-—l:'f" - #: [;{/!-(,{ réf’/?,[jf,f EAVT 4T 2 . ” ;’ff . R &.

. whon Fo Bl The wolidine

. A e L T LT g |
TR (@it ¢ 5

Justify Reasoning Two students are frying to show that the two
figures are congruent, The first student decides to map DEFG to RSTU
using a rotation of 1807 about the orighn, followed by the vertical
translation (%, ¥} ~ {x g+ 4). The second student uses o reflection
acrass the x-axis, followed by the vertical translation % ¥}~ {x.y + 4},
followed by o reflection across the y-axds. Are both stedents correct, is '
only ene student correct, of Is neither student correct?
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27. Analyze Relationships Suppose you know that LABC is congruent
to SDEF and that ADEF is congruent to £GH] Can you conclude that
SABC 15 congruent to AGHT Explain, 4 ,.
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